WORKSHEET 2

- =<

pie juawdojaaap uo
-*ss9] 40 Aep 1ad uw:&&%.ﬁfm%ﬁ%:ﬂ%&%
2 o @Al ajdoad AN} 1
SEEEREE SIS be uolu} $Z°'L $ SN spuads abejia ayy

7

UuOoI}28UUO0D JDuIalUl [ —T0 SATS[oT 14
ue aaey g Ajuo

paysunoujew o
AiBuny aie gz}

UONOBUUOD JBUIBIUL
ue aneu g fwo

peas j,ued Z|

Q|

224n0s J9jem pasoiduwil Ue JNOYIIM BAl| 8L
uonejuES dISEq JNOYIM BAI| €Y

uone|ndod pjaom aanua myj jo
%G/ uey) Jaydal aie NOA
*"peay inok 13A0 Joou e pue

Ajlunwwod ayj} jo yjjeam ul doa|s 03 paq o aaey noA ji
aanua ayj jo 92,62 umo ajdoad oz ‘}9S0|2 B ul Sayjo|d Jnok
Jo03jesablijal e ul pooy JnoAk daay nok j|
e le [ m |

Aunwiuos sy
2unua a1 0

'ivod 1d03d 0

Peay InoA JIA0 J00) € puy.

If we could turn the population of the earth into a small community of 100 people,

keeping the same proportions we have today, it would be something like this...

The Miniature Earth
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